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Note - Four possibie answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that guestion with Marker or Pen ink in the answer-book.
Culting or filing two or more circles will result in zero mark in that question.

In a logic gate if X = A . B, then X is "1 " when : i//fd/:f/; B d).J. XiX=A. B/WJIJJU@J(
A=1andB=1 /] B=1atA=1(B) A=0orB=0 < B=0{A=0 (A)
A=1andB=0 /B=0xsA=1(D) A=0andB=1 /B=1.4A=0 (C)

Z o g P Lb ‘.
Let two resistances Ri and 2 are Jﬁﬂjwwﬁﬂ%gﬂjﬂ%w;f/f Ry 0 R %75 nif
combined in parallei in a circuit, their equivalent resistance will be -

1 1 1 1 I
Re = —— X - (D) Re = R} x Rz (C‘

Release of energy by the sun is due to: : g..t/(@{ﬁv&jlc,fu)/@;f
Burning of gases Lkt (B) Nuclear fission uyﬁf'/x (A)
& ! Ll K
Chemical reaction u’giduf:‘{ (D) Nuclear fusion u’)‘ﬁ,f:bx. (C)

When water waves enter the L,r x Jﬁ’i Sl fff ¥ it S J’!; & Lty dlf ﬁ i u( Jﬁ._ -
region of shallow water, which guantity will change

Waveiength ;@; (D) Amplitude i)fdt{' (C) Time period JE[?(/'L*’ {B) Freguency J{.{/ (A)

The brain of any computer system is : ‘Lt'ﬁf/bb’(b/))ﬁg
Disks U~ (D) Memory (s5 (C) Monitor £L (B)  CPU 3¢ (A)

The frequency of ultrasounds is than the = R ..:,«:f? u{ iy B 2l J-G' u’";g/ u/ j,‘cil/i/’"-‘
frequericy of audibie sound waves :

Less and equal ,cf/.ufﬁ/ (D) Equal 4z (C}) Less [ (B) Higher sl {(A)

The branch of physics which deals with the control of motion of electrons is - CI-L:‘J":?L J:}-”;'/u/é:’d/;;'}g (9 Z.,lﬁmfuf‘/.
Electronics ;_,I’Ci}gi (D) Nuclear physics g/(}f:gx. (C) Dynamics u’(L':IS (B) Mechanics (sais (A)

. ¢ . eyl
The defect of vision " Farsightedness " can be e vg b g’ PPy J s " d}” ro J’y ¥ ol
corrected with the aid of suitable :

o s ) o . . o
Double concave lens r.’.r g‘/ff-: (D) Convex mlrrorJ/Jg:’ (C) Convex lens ,’f”..Jgf((B) Concave lens /:’:;U/(A)

# W ¥ 2 7 ) ‘-, A
If a ray in glass is incident on - L,(}fé._,u’}’»"ﬁ{::.-v{{"uﬁ/": pgﬁigJile)/bjb/l:,i/J'ﬁa./.gJ&zc;u g/
air surface at an angle greater than critical angle, the ray will

Diffract .:,gﬂj (B} Reflect only 22 (A)
. . . i—lﬁJ Dg” -~ i{ - .
Partially refract and partially reflect =x""/ woshes fude (D) Refract only &4 2,37 (C)

In houses consumption of electric energy is measured in : : ?d@@&/’d}?ldn‘gﬁ_ﬁﬁuﬁusj
Joule-hoursT.J# (D) Watt-hour si_xls (C) Watts 212 (B) Kilowatt-hour J}T..;DIJJ‘K (A)

10

PETIRT ’ ~ . #
Five joule of : gf.ij u}';J’-“guwcC_—,LG»umul_a‘-. t t/.;iny.SQL@L,_GJ/J;QJ.Q/@EZ J}H 0
work is needed to shift 10 C of charge from one ptace to another, the potential difference between the places is :

0.5V (D) 10 V (C) 5V (B) 2V (A)

‘-I -y ® r . el By
The direction of induced e m.f. in a circuit is in : ct-uﬂd,ﬂwf_ u:"\:u’wcfvyi_ﬂl_u!ygx:u:;/}
accordance with conservation of : N
Momentum (’:‘f (D) Energy &' (C) Charge sy (B) Mass JL{A)
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10 2. Write short answers to any Five (5) questions : : é.-,yzﬁ?é.:mr (5} ét = (jf -2

(i) Define wave. _.éw/‘u/b (i)
(i) Derive a relation between speed, frequency and wavelength. é}a i uw)c_.fz‘c'ftwld”;/ ,w (i1}

(i) What is meant by ripple tank? ~—C"JJ (tii)
(iy) What is meant by loudness of sound? e :L/lm:..u";JJJJMLf (iv)
{v) Write two uses of ultrasound. A’U 'wf'm.f_ﬁ% (v)
(vi}) Define reflection of sound. -C{L.JJ/)JJU}L/’ =0 (i)
(vii) Write two characteristics of focus of a concave and a convex mirror. ,Z;: e Lor® rJ Ly JJ’J/')’L’((VH)
(viii) Define mirror formula. Z:J/ {UV‘JW/ (viit)
10 3. Write short answers to any Five (§) questions : J._«U?/"E..uulr (5) él. < J:( -3
(i) Define Coulomb's law. i_ﬂ f’(,ru:‘bf. JJ (i)
(i) Whatis the difference between variable and fixed type capamtor'?-;’_:ul.w/’ub‘m{.) RSN YT L"'fu/n {ii)
{iif) What is meant by damp conditions? Yo <ylfc_. J?Lﬁy (i}
(iv) What is the difference between galvanometer and ammeter? ‘“c:,u/’VJ"/ul/';’l;V {iv)
(v} What is the difference between = cell and a battery? u/L—‘u qui..\j/..u' (v}
{vi}) What do you know about paper capacitor? St R:_, ._,...,_“‘_f '/ {(vi)
(vii) Whatis armature? ?JT_L: Szl (Vi)
{viii) Define electromagnet. -é-é{/:"d/&?:}g’ (viii)
10 4. Write short answers to any Five (5} questions : : é..:.«w:/‘f"ﬁgwr (5) 5}' = J:" -4
(i) Write down the symbel of OR gate. - "r g ;../va_/ci' (i)
{1} What is meant by digital to analogue converter? ;/L«:._,/Jr..; it 3 (iby
(iii) Name the two factors which enhance thermionic emission.ié{/?tédﬂv.»é_,l.e...brkfg*"hm;f (iii)
(iv) Define telecommunication. _2‘.-(‘_{-;/7‘5\/“41-1-@@&456-‘1-\3 {iv}
(v} Differentiate between RAM and ROM,. J-.‘;i:],@.&)ud(ROM) 18 (RAM) (- I {(v)
(vi) What is meant by cosmic radiation? e pe SRS L8 (vi)
(vii) Define nuclear fusion and write its eguation. i ._«!;Lqﬁulé_w/’db A’/'L‘r (vii)
(viil) Write two characteristics of beta radiation. /ﬂ.. Lc-‘"»duﬂldle» {viii)
_ ( PART-II (2 -~ )
Note : Attempt any TWO questions. -J ez Loty e § 1 od
4 5. (a) What is meant by simple harmonic 12_{@)&5:, Jt’mﬂu;ut/‘lf_)!/gc.,g?.xr& L () L8

maotion (SHM)’? Explain it with example of s:mple pendulum.
_3;/31’ WJ!,JJ/-/'_J -5.66 cm ﬁ.“d..//f,luu sl r_,l//.l»-"ué:S4 4 cMma./f uf‘ (o)

5 (b) Find the focal length of a mirror that forms an image 5.66 cm behind ¢ f)’r e r"rz/,l & tix
the mirror of an object placed at 34.4 cm in front of the mizror. Is the mirror concave or convex?

€. (a) State Joule's law and derive its mathematical formula. ,,z.-fyrquuK«_;wz_:”uwm bz (L) 26
5 l_‘,l'y‘;,-d:.J’./kul-uff_./d)c,;j;}d/ 0.1 N s /.UJM;J)"C._ éﬁbf. Scem b (....«\)
(b} Two charges repel each other with a force ,Jr:_.i//&bf_ 2cm -;JZ:,@""J V{w;’
of 0.1 N when they are 5 cm apart  Find the force between the same charges when fhEy are 2 cin aparl.
4 7. (a) Explain the use of logic gates as safety alarm. _zf_:mwwu.pu e J#JJHJJ; ()

5 o 3 LI S B0_ Al 260 525 51 i B0 19 E, (L)
(b) Cobalt-60 is radioactive element with half-life of 5.25 years.
What fraction of the original sampie will be left after 26 years? 210-020-1-(Essay Type)-100000
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di...zl:’um:c.u.'fu:}bgé__)&V&JW//QKJV - "c’fc’_JD S C'BA &‘L'ﬁ;’gJ‘?LJJ}”ﬁ cey
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Note : Four possible answers A, B, C and D to each guestion are gwen The choice which you
think is correct, fill that circie in front of that question with Marker or Pen ink in the answer- -book.
Cutting or filling two or more circles wiil result in zero mark in that que gstion.

The output of NAND gate is zero . : ,f'fjf 0 d;;....*;i'{,(* fizy‘ 1 -1
A=1andB=1/B=14A=1(B) A=0andB=0/B=0., A=0 (A)
A=1orB=1 / B=1,A=1(D) A=00rB=0 / B=0{A=0 (C)

An electric current in conductor is due to flow of : c;.m;f:l(f,bf,f ‘;'GU‘/» 2

Negative ion o i’ﬁ’g (B) Pasitive ion JT‘LJ{.’ (A)
ree electron u‘lf'gb'jf (D) Positive charge {27y (C)
Which one is not radioactive slement L JF A YK
Sodium (::”r (D) Thorium ffz:-; (<) Poionium ﬂ)’ (B) Uranium ,f‘,"f;;‘ (A)
in a vacuum ali eiectromagnetic waves have same | O;u Jb...i.w- /a!v..* 314
Wavelength ,z?’?%_’} {9} Amplitude 3z 30 e {C) Freguency J"ﬂ-/ (B) Speed ix (A)

Which of the foi!owing is NGt processing : : c_(f:‘t.a..'?{'fuﬁ'/ 5

Gathering &/ &5/ (D‘ Calculating L'/':,‘JLT_,LJ (CYy  Manipuiating 33 (B)  Arranging b 2w’ s {A)

Which is an example of lengitudinal waves | .f_uvw s f"q’ 6

Water waves j¥s/s (D) Radio waves Jysy 40 (C) Light waves J¢+0J 2 (B) Sound waves Sk {A)

The particles emitted from a hot cathode surface are | LU E_Lb: vl ‘JGL{L(j.J{;’/Q%)&é; 7

Electrons ;?:,;g‘f (D) Protons ;5.9'35{ (C; Negative icn | o Tk 3¢ (B) Positive ion o T iy (A)

The speed of light in giass is | DGV ¥ JJ-JV ‘K |8

1 5% 10%ms 1 (D) 2x10%ms ™! (C) 2551087 (B) 3x10%msTh (A)
The unit of power of lens is : :Lh:‘.«f;’%:&d-//‘% 9
Volt 2t (D) Hertz 77 (C) Dicpter };_eléi} (B) Meter ~ (A)
On what principie circuit breaker works . : QKJPQJ:‘IJ:{,:&'}‘ 10
Electric potentia! ._,'\)‘;._/" 1 (B) Eiectromagnet = A1 (A)
Mutual induction MJPr‘ (D) Self induction f)h.—ﬂl.r (C)

1 PF = e i.::*../.’/.é/;’.zg [if11 B
107 (D) 107121 (C) 10°%r (B) 107K (A)

U? J’)d_/u //'uz.ﬁwl.w/h‘ﬂ.ﬁ.f)J DAY Jff Uf“i)"_f»&" 12

If current in w're, which is piacpd perppndicuiar to magnetic field mcreases the force on the wire :

Will be zero Q}“'/“’ (C) Remain same u:ﬁu- J}r {C) Decreases ":’" {B) Increases gf:?i.:c (A)

211-020-1-(Onjective Type)-19250 {7474)
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10 2. Write short answers to any Five (5) questions : : é@kfﬁ/‘?ﬁcfybf (5) ék P Ji/ -2
(i) What are the damped oscillations? ?ujdﬁgf-"‘u‘ﬂ%{i (i)
(it) Prove that : v=fA v=fA : és—"/k' (i)
(iii} Define wave. _54/7 u( 2 (i)
(iv) Define the intensity of sound. ié_,éfﬁg,(}u;ﬁhlgfﬁiv {iv)
(v} What do you mean by reverberation? ) ?4‘:_;1/'5@;,;%‘; (v)
(vi) What are the ultrasonic waves? T O s J:’rl/fl {vi)
(vii) Define irregular reflection of light. -z{u?id/QM)bﬁG‘é-itﬁ) (vil)
(viii) Define resolving power of an instrument, -é..@/‘?&:&j:’r/nng.i TJ( {viii)
10 3. Write short answers to any Five (5) questions : ez =iy (5) ég e & 3
(i} Define electric field intensity. Aisc write its unit. -é&*g&b;r éqﬁJM\i?J}gl (i)
(i} What do you know about paper capacitor? ‘?ujZlgyf.; el ¥ (i)
(iii} Describe Ohm's law. -éugu;wfﬂ (iii)
(iv) Differentiate between direct current and aiternating current. ,Lf:(CbbJ}J:f'/u@ﬂwuf'fd_fo {iv)
(v} Define resistivity. Write its formula. -agfuwsm’&“.giu’am (v)
(Vi) Write the principle of A.C. generator. -&gdy"fi{/‘:ﬁu’.z_' (vi)

(vil) Define electromagnetic induction. -8".7.@/;1{@!2&@%}*?1 (vil)

(vill) Give difference between step up and step down transformer,,é S Lé)‘l}ui!ih,‘_.a}ul..,f.;é’ {viil)

10 4. Write short answers to any Five (5} questions : : é@%fﬁf?ﬁouv (5)' ég o Jf -4

(i) Differentiate between data and information. g &}u:w"ﬁiuiw{zﬁ (i)

(ii) What are logic gates? *."Lﬂfgc,u :JU (i)

{ili) Write down name of four electronic devices. ig‘/ b f!g;ﬂ}?ug (nii})

(iv) Define analogue and digital electronics. “ébéify.Ju’g}giﬁinlﬂlél (iv)

(v) Write two advantages of e-mail. -’&U»’J:"»LJ-»/_JJ (v)

(vi} Define nuciear transmutation. _.’é.-;’_.éf/;ufu%;;‘u] l)ﬁ.{xi {vi)

(vii) What is electron volt? Write its relation with joule. _&JJL;;,J:?(JI?{‘:_ g@'z;u;}?f (vil)

(viii} Write two properties of beta particle ( PART-II o ) & a?ﬂ’»u@;‘)&l’g (viir)
Note : Attempt any TWO questions. e Loety e 3 s
4 5 (a) Prove that motion of a ball in a ball ~e b b A K oSt s S e (L) LB
and bowl system is simple harmonic motion.
5 _ﬁuwb@:'u"/.L:fuc:.._::/lz?;,L/I?)’JJIL,}:JJ/Z.?L@C{Mﬁiif/"?L ‘._-LSDJ:EJHU’{J"C.{' (___,)

() The power of a convex lens is 5D. At what distance the object should be ;5laced from the lens
so that its real and two times larger image is formed.

4 6. (a) Discuss the main features of series combination of - é&‘yr‘;ﬁid/}/“héc_}ﬁc 2“./"{,:’ (&) -6
resistors. '

5 ~e bk 1 6x107Y¢C 44_15;?,9{&5.&@2&4:41 1004C @,w.,:,u;,:pg{y,:‘rgz (o)
(D) The charge of how many negatively charged particles would be equaito 1004C  Assume
charge on one negative particle is 1.6x10" 7 ¢ .

4 7. (a) Explain the process of thermionic emission in detail iéugc;.:}ws.@){u%{l.ﬁ:‘/; () -7
P e . g l . T s
5 Ui L bnflf 3 K;l&d!j.”cld/14_@;K_§_JL’5730JU_‘§J14-‘_-/.;? ()

{b) Carbon-14 has a half ife of 5730 years. How long will it take for the quantity of carbon-14 in a
sampie to drop to one-eighth of the initial quantity?
P P s quantity 211-020-1-(Essay Type)-77000



